[This question paper contains 8 printed pages.]

680

Time :

Your Roll No. ............
B.Com. (Hons.) /111 C
Paper XVII - MACRO-ECONOMICS
(Admissions of 2004 & onwards)
3 Hours Maximum Marks : 75

(Write vour Roll No. on the top immediately

on receipt of this question paper.)

Note :~ The maximum marks printed on the gquestion paper

Now

are applicable for the candidates registered with
the Schuol of Open Learning for the B.Com. (Hons.).
These marks will, however, be scaled down
proportionately in respect of the students of regular
colleges, ai the time of posting of awards for

compilation of resull.

59 FIT-99 W HFd qOE wher % JuT aan’ @
@ i () F - o @ fre wr &1 fafe
Renfiat & e a7 s @1 gagurae JAAIRe weErsd
AR Fed g FA TIE

Answers may be written either in English or in Hindi;
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Attempt all questions.
The marks of each question are indicated.

Do support your answers with diagrams.
1. (a) Discuss the role of rate of interest in the equilibrium
of financial market in classical model. (5)

(b) Explain Baumol-Tobin transaction theory of

demand for money. (10)

OR

(a) Discuss the components of GDP in closed

economy. {3)

{b) Explain the determination of the desired stock of
capital. (10)
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2. (a) Explain the factors affecting the slope of IS

curve. (8)

{b) Expiain the crowding out effect in all regions of
LM curve. (7N

OR

(a) Explain the derivation of LM curve and shift in
LM curve, (8)

(b) Explain the effectiveness of expansionary fiscal

policy in all regions of LM curve. (7)
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Suppose

C=100+0.8Y Yd=Y-tY k=0.20

T=tY h=5

t=0.25 M=500

G=200 pP=5

[=200-101

{a) Find out the equilibrium and budget surplus of the
economy. (3+2)

(b} Find out the equilibrium and budget surplus if G
increases by 40, (3+2)

(c) Find out the equilibrium if M increases by
100. (2)

{d) What happens to Investment if G increases by 40
and M increase by 100, (3)

OR

Suppose

C=120-0.75Yd Yd=Y-tY M=600

t=0.20 p=2

[=260-10i L=0.4Y-10i

G=220

(a} Find out the equilibrium and budget surplus of the
economy. (3+2)
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(b) Find out the equilibrium and budget surplus if G
changes from 220 to 240. (3+2)

(¢) Find out the equilibrium and level of investment if

M increases to 800. (3+2)
a1 ity TR
" C=100+0.8Y Yd=Y-tY k=0.20
T=y h=3
{=0.25 M=500
G=200 p=3
1=200-10i

() s @ wgew IR awe e @ S F |

(@) Fge 3k awe Ffdw F FE A TR G | 40 N
gfg & w2 7

() wEET @ WA A g M ¥ w0 N IR A
2

() frwr ¥ = oRed B 2 AR G X a0 F g M
¥ 100 & gfe & W 2

gar

P.T.O.



680 6
A e

C=120~0.75Yd Yd=Y-tY M=600

t=0.20 p=2
1=260-10i1 L=0.4Y-10i
G=220
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T 240 B W B

() ¥3e= 3k fEw =1 W ww Fh o M seaw 800
B W

4. (a} Discuss the sacrifice ratio. (5)

(b) Explain the derivation of aggregate demand from
[S-LM framework and shift in aggregate demand
curve. (4+6)

OR

(a) Discuss the determination of natural rate of
unemplovment. (5

(b) Explain the derivation of dynamic aggregate
demand curve and shift in dynamic aggregate
demand curve. (6+4)
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{a) Explain the effects of expansionary fiscal policy
at home and abroad on real exchange rate and net

exports in a small open economy. (8)

(b) Explain the effects of expansionary fiscal policy
{at home) on real exchange rate and net exports

in a large open economy. (N
OR

{a) Discuss the net capital outflow or net foreign
investment in case of small and large open

economy. (5)

(b) Explain the effectiveness of expansionary fiscal
and monetary policy in sma]l open economy under

fixed exchange rate according to Mundell-Fleming
model. (10}
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